Number of Questions to be attempted : 25

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036735
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503610606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IfR={(x,y):x,yeZ x*+3y> = 8} is a
relation on the set of integers Z, then the
domain of R ! is:

Options :

Jo9 i, 019
40503638651

. 2
40503638652, 12 ~L 12

40503638653. {-1.0,1}

40503638654. 0,1

Question Number : 51 Question Id : 40503610606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g R={(x, ¥):x, e Z,x2+ filfz = 8}, 11'UT1EF?T
FUEEZ A TS Eeg e, AR I F A= E: Qcollegedunias
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Options :
=2 —-Li1. 2N

40503638651,

40503638652, 12 ~ L 1.2
40503638653, 101}
40503638654, 10 1

Question Number : 52 Question Id : 40503610607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let o and 8 be the roots of the equation,
5x2+6x —2=0. IS, =o"+p",n=12,3,..,
then :

Options :

65, +55: =25,
40503638655~ © "

40503638656, 226 T 695=25

56, + 655 +25, =0
40503638657 ~ ¢ -

pS,. +55.+25, =0
40503638658. © 5 4

Question Number : 52 Question Id : 40503610607 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical .
Correct Marks : 4 Wrong Marks : 1 = Eol”etgdegqult?m
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AT o T B FHF 522 + 63 —2=0 T HA
%I ?Tﬁ5||=ct"+[:‘.“,n=1, L0 %, GIE
Options :

65 +555=2S,

40503638655. 0 T

40503638656, 226 T 695=25,

55, +6S-+25,=0
40503638657. ~ © 2 4

65, +55.+25, =0
40503638658,  © 5 4

Question Number : 53 Question Id : 40503610608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3
1+ S]:_I'lzr—;r I icns%—f
The value of T
1 4 sin 5" ;1::::}1-17}J
Options :
1 .
L5 -i)
40503638659, 2
L =
(1 iv3)
40503638660. < :
1 .
511 iv/3)
40503638661.

.
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1 i = W
S =)
40503638662. =

Question Number : 53 Question Id : 40503610608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

- . ) 3
1 + sin2T + joos2m

9 9 eI .
1+ sin<T — joos2T e 2
\ ; 9 -9 )

Options :

%Eﬁﬁ i

40503638659.

40503638660. <
'j- \

40503638661.

40503638662. =

Question Number : 54 Question Id : 40503610609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Let A be a2 x 2 real matrix with entries from
{0, 1} and |A| # 0. Consider the f ollowing,
two statements :

(P) If A #1,,then|A|=—1

(Q) If |A|=1, then tr(A)=2,

where L, denotes 2 X 2 identity matrix and
tr(A) ::l_enotes the sum of the diagonal
entries of A. Then:
Options :
40503638663 (P) is true and (Q) is false

40503638664, (T) 18 false and (Q) is true

140503638665, BOth (P) and (Q) are false

10503638666, 2oth (P) and (Q) are true

Question Number : 54 Question Id : 40503610609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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H A TF 2x 2 F AqiaE A ¢ faas
s (0, 1} FRFaA (Al 20 & F=A
FHA T o= Hife

(P) AR AzL,, d|A=-1%

(Q 3fE|A|=1, W tr(A)=2F,

el [, UF 2x 2 % dodH A (identity
matrix) F1 S 8 T4 tr(A), T A F
fa=rvl % staaal & ArThRa F S g A
Options :
40503638663, () T € T (Q) 375 &1

40503638664, (F) FH T 9 (Q) IHA T

20503638665, (P) TN (Q) &l 18 ¥

40503638666. Rl S %l

Question Number : 55 Question Id : 40503610610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let S be the set of all A € R for which the

system of linear equations
2x—y+2z=2
x—=2y+Az=—4
x+iyt+z=4

has no solution. Then the set S

.
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Options :

40503638667, 5 2N empty set.

40503638668, 15 @ singleton.

40503638669 contains exactly two elements.

contains more than two elements.

40503638670.

Question Number : 55 Question Id : 40503610610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TS, T4 I A e R =1 99=19 &, o o

2r—y+2z=2

x—=2y+Az=—4

x+Ay+z=4
1 TS B Tl &, o I=A S
Options :

40503638667. T T 1 d

10503638665, °F L1 TS A T ZI

40503638669, T H1A 2 FTHA F |

,

40503638670, 1 21 H HAfeH 377 €|

.
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Question Number : 56 Question Id : 40503610611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Leta >0, B > 0 be such that o + p2=4. If
the maximum wvalue of the term

imjlr_-p endent of x in the binomial expansion

of 1 ﬁx% b Bx :l|' is 10 k, then k is equal

to :
Options :

40503638671, 84

40503638672, 176

40503638673, o0

40503638674, 92

Question Number : 56 Question Id : 40503610611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Al a >0, >0 50 TH6H & fF o+ B2=4 |
- ; | 1 1 10 = fad = =
AE (qa® +px 5) P HERITERHAx

=dd U2 F1 AfgFad 9 10k T, a1 k F1 =5

e

Options : "
% collegedunias
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40503638671, 4

40503638672, 176

40503638673, o0

40503638674, 02

Question Number : 57 Question Id : 40503610612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The sum of the first three terms of a G.P. is
S and their product is 27. Then all such
Sliein:

Options :

40503638675, L 7 %)

40503638676, |~ = ~3lu 9, =)

40503638677, (% 9w I3, =)

40503638678, (=77

Question Number : 57 Question Id : 40503610612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegedunim



T U G2 % 9YH T Te 6 AR S €
A UAEA 27 F, W TH w S T from €,
TR

Options :

[-3, =)
40503638675.

40503638676, |~ * ~3lw 9, =)

40503638677, (% ~u I3, =)

40503638678, (=77

Question Number : 58 Question Id : 40503610613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If [x] <1, |y| < land x # ¥, then the sum to
infinity of the following series
@+ + (0 +ay+ 7))+ (ol )+
1S :

Options :

xt g+ xy
40503638679, (1 + 1)1 1Y)

.xlylry
(I—x)(1-y)

40503638680.

.
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-I|y Xy
)

1 —xM1 —1
40503638681, \ (1-y)
40503638682, (L T X1+ Y)

Question Number : 58 Question Id : 40503610613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
afg x| <1, |y <19 x =y & < f7=1 goft
(x+y)+ {_1'3 +xy+1 Fj + {_151‘ + _1'1] j+ 1 fl +1 f‘] +...
o T Y91 AR
Options :
x+ Y+ 0y
20503638679, (1 T O )

';rlylry

40503638680, (L~ VA~ Y)
- xty xy
sosoeasest, L DY)
X+ y xy

40503638682, (1 T XL HY)

Question Number : 59 Question Id : 40503610614 Question Type : MCQ Option Shuffling : Yes Display Question Q collegedunia§
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If a function f(x) defined by

[ae* 4 be™, -1=x=1
f@)=ax?  B=ga

iaxz F2cx ,3<x <4
be continuous for some a, b, c € R and
(0)+[(2)=e, then the value of a is:

Options :
e
et —3e +13
40503638683. ' :
e
2 ;
3e + 13
40503638684, ¢ et
e
2 ;
40503638685, ¢ ¢ 13
1
2 _3+13

40503638686. ©

Question Number : 59 Question Id : 40503610614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegeduni:ﬁ



[ ae* Fbhe *, -1=x<1
|

o f(x) = ex? , 1=x=3

'la;rz +2cx ,3<x=4

TR aftifud wer f(v), fFET a, b,ce R &
U G a0 1 (0)+/'(2) =e &, W a FHH

€

Options :

e
ez —3e + 13
40503638683 : '
e
e’ +3 +13
40503638684,
e
2
N
40503638685, © ¢ 13
1
2 _3% +13

40503638686. ©

Question Number : 60 Question Id : 40503610615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x +siny ata

point (a, b) is parallel to the line joining

3W [1 1
0, =|and |—, 2|, then: .
(0 3)ana(52) M collegedunia
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Options :

b—a|l=1
40503638687.

40503638688, D=2

40503638689, @ TP =1

b=
40503638690.

k| =

Question Number : 60 Question Id : 40503610615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g =k iy =x + siny % UF {45 (a, b) W @@=l

I o - = -f 3‘\ ]. =
T o v, fagsd |0, S| @ [—,ﬂm
\ 2,.-' ‘-.2 s
fiyerr aTelt T & HHi €, o ;
Options :

40503638687, A= 1

40503638688, D=2

40503638689, 1A+ bI=1

—

b= fu
40503638690. 2

.
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Question Number : 61 Question Id : 40503610616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If p(x) be a polynomial of degree three that
has a local maximum value 8 at x=1 and
a local minimum value 4 at x =2; then p(0)

is equal to :

Options :

-12
40503638691.

—-24
40503638692.

40503638693, ©

40503638694.

Question Number : 61 Question Id : 40503610616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A p(x) =1 F9 F1 TF TH 9gUs &, g
T AFTY O 8, v =1 W g 991 T
TqH A 4, x=2 T E; T p(0) TR T :
Options :

40503638691, 12

Sy i £
40503638692, 2+ Qcollegeduma
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40503638693, ©

)
40503638694, 12

Question Number : 62 Question Id : 40503610617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Area (in sq. units) of the region outside

%I Y —1 and inside the ellipse

2
j—=1i5:
9

2

2y
4

Options :

40503638695.
40503638696
40503638697.

40503638698.

Question Number : 62 Question Id : 40503610617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegedunias



Options :
40503638695, X7 T)

40503638696, O™

40503638697, (™~ 2)

40503638698, (T~ 2)

Question Number : 63 Question Id : 40503610618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the

differential equation,

2 +sinx d
ﬂ . _y = — Cgsx;yr - [],y{[])zl If
y+1 dx

d
y(m)=a and l at x=m is b, then the

ordered pair (a, b) is equal to :

Options :
&collegedunias
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3

40503638699, 2)

(L, 1)
40503638700.

40503638701, (v 1)

40503638702. (%1

Question Number : 63 Question Id : 40503610618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
qHAT  y=y(x), HAIHA HHHIW

2 4 sine d
ﬂ . _‘L’- — CDSI,y }Urﬁl.lll(nj = 1,%‘
y+1 dx

AL qﬁy{w]=a%ﬂﬂ11=ﬂq¥%=h%

a1 SfHd T (a, b) T T :

)
40503638699, /

Options :

(L, 1)
40503638700.

40503638701, (v ~ 1)

.
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2
40503638702. (21

Question Number : 64 Question Id : 40503610619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let P(h, k) be a point on the curve
Y= 12+ 71 + 2, nearest to the line, y=3x—3.
Then the equation of the normal to the
curve at Pis:

Options :

40503638703, X3y +22=0

By
40503638704, * T 2Y62=0

40503638705, ¥ T3y +26=0

40503638706, 2y~ 11=0

Question Number : 64 Question Id : 40503610619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HA P(h, k) o6 y=212+7x+2 T foq o=
ﬁﬁ%.fﬁﬁ‘ﬁmyzh—fi%ﬁaﬁw%l Gl
fog P R = F Afvei= = T e
Options :

il .
40503638703, X 3y +22=0

,
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x+3y—62=0

40503638704
- L g p—

40503638705, ¥ T3y +26=0

40503638706, ~ Sy~ 1=0

Question Number : 65 Question Id : 40503610620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A line parallel to the straight line 2y —y =0

3 ¥

is tangent to the h}-’perbnla l? HT =1

at the point (x,, 1,). Then ,1'12 I 55;12 is equal

to :
Options :

40503638707. 10

40503638708.
40503638709.

40503638710.

Question Number : 65 Question Id : 40503610620 Question Type : MCQ Option Shuffling : Yes Display Question Nmmher - Vec T¢
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Qcollegedunim
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e @l 2v —y =0 % FHAIR Gl T TH
2
T@Hﬁw% I _ 1 ¥fEg (xy )

WE @ e, @ xf +5y; FAAE
Options :
40503638707. 10

40503638708.
40503638709.

40503638710.

Question Number : 66 Question Id : 40503610621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The plane passing through the points
(1, 2, 1), (2, 1, 2) and parallel to the line,
2x=3y, z=1 also passes through the
point :
Options :
40503638711, (>0~ 1)

(-2,0,1)
40503638712.

40503638713. (0.6, -2)

.
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—F D
40503638714. mr b _j

Question Number : 66 Question Id : 40503610621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
faigadi (1,2, 1) 99 (2, 1, 2) | S 9 =
1 T 20 =3y, z="1 F FHIR THad, 71 F
Afa s fag A i d s g, 2 2
Options :

) s
40503638711. (2.0, -1)

(—2,0,1)
40503638712.

y, — 2
40503638713. 0,6, -2)

-
40503638714. 0 —6,2)

Question Number : 67 Question Id : 40503610622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
let X={xr e N :1 = x = 17} and
Y={ax+b:xeXanda, be R, a>0}. If
mean and variance of elements of Y are 17
and 216 respectively thena +b is equal to :

Options : .
% collegedunias
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_'j?

40503638715. —©

~]

40503638716.

40503638717. —

40503638718. 7

Question Number : 67 Question Id : 40503610622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A X={x e N:1 =< x = 17} 319
Y={a.1'+h:_1'eX?l?ITa,be[{,a‘}D}%l qfe
Y F g4l % HI= a9 G0 FHE: 17 90
216%,ﬁTa+11W%:

Options :

=

— 27
40503638715.
40503638716. 7
40503638717, — 7

40503638718. 7

Question Number : 68 Question Id : 40503610623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Qcollegedunim



Box I contains 30 cards numbered 1 to 30
and Box II contains 20 cards numbered
31 to50. A boxisselected at randomand a
card is drawn from it. The number on the
card is found to be a non-prime number.
The probability that the card was drawn

from Box1is :

Options :

40503638719, 17

4
40503638720, 17

2
40503638721. 2

2
40503638722,

Question Number : 68 Question Id : 40503610623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
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T [ H 30 #1E & o w1 ¥ 30 9%
HeEAT Siferd 2 wafe 9= 11 5 20 Fr2 € fod
T 31 ¥ 50 7 Hi HEAT Hfwd &1 Ag=
TF T I g, T SHH ° UF HwE
FrremTen =i 21 == 9 e € 6 5w e w6
siferd TEm SA9=g = TRl €1 T FE &
e [ | Tl SH &1 Wil @ :
Options :

40503638719, 17

40503638720.

QIS

40503638721.

2
40503638722,

Question Number : 69 Question Id : 40503610624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The domain of the function

15

.f(x) — sin | L Xa = \‘

x-+1)
(— o, —aJula,=). Then ais equal to: @collegedunias
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Options :

17

2
40503638723, 2

1 + 17
40503638724, 2

17 —1

40503638725. 2

40503638726. 2

Question Number : 69 Question Id : 40503610624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

F1 974

LA TN, | L |5.1'
TdAd  f(x) =sin [ T
Wx<+ 1)

(-, —a]ula, ®) % Ma WAL :

Options :
17
40503638723, 2
14+ 17
40503638724, 2

,
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40503638725. 2

40503638726. 2

Question Number : 70 Question Id : 40503610625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The contrapositive of the statement “If I
reach the station in time, then I will catch
the train” is :
Options :
If T do not reach the station in time,

40503638727. then I will catch the train.

If T do not reach the station in time,

40503638728, then I will not catch the train.

If I will catch the train, then I reach

40503638729. the station in time.

If I will not catch the train, then I do

40503638730 not reach the station in time.

Question Number : 70 Question Id : 40503610625 Question Type : MCQ Option Shuffling : Yes Display Question
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical QC oll ege dunia:
Correct Marks : 4 Wrong Marks : 1 India’s Largest Student Review Platform
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Fo 'afe § w99 W =9E TEEd § O 7
TS Yehe T’ 1 S Y €
Options :
“ofe ¥ =y THg R T g, 9 §
3 L T LA
40503638727, Tl RS ELT
“ofe ¥ =y THg R e vgTa, 9 §
3 o L - LA
40503638728, SSMGL RN T R )
“gfz | TETel v o, 9§ 7 W
= = =L
40503638729, 1 g

“afs § oS 7= wwem, @ H
W YA 8 sgaa gl

40503638730.

Sub-Section Number : 2
Sub-Section Id : 405036736
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503610626 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the letters of the word "MOTHER' be
permuted and all the words so formed
(with or without meaning) be listed as in
a dictionary, then the position of the word
‘MOTHER' is

Response Type : Numeric
Evaluation Required For SA : Yes gcol le gedu nia:
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 71 Question Id : 40503610626 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afg w158 ‘MOTHER’ & 318 %1 % e

o S qen 39 WK 54 94l weal (Y

Higd AYal AAfGEA) F MEHT F FTER

Ytag foha =g, 91 9158 ‘MOTHER' =1 feafq

- S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 72 Question Id : 40503610627 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If
i L 3 n
R e o A v el RO e n
lim =820, (neN)
r—1 X | )

then the value of n is equal to __

Response Type : Numeric
Evaluation Required For SA : Yes Qcollegeduniaﬁ
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